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The setting up of the Inter-State Council in
1990 was meant to :

(a) substitute the National Development
Council.

(b) strengthen the federal provisions of the
Constitution.

(¢) be an institutional interface between
the Judiciary and the Government.

(d) provide membership to local

customary bodies.

Which one of the following is NOT a
Central Paramilitary Force under the
Ministry of Home Affairs ?

(a) Central Industrial Security Force
(b) Central Reserve Police Force
(¢) Ladakh Scouts

(d) Border Security Force

The following item consists of two
statements, Statement I and Statement II,
Examine these two statements carefully and
select the correct answer using the code
given below :

Code ;

" (a) Both the statements are individually

true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is NOT the correct
explanation of Statement I .

(c) Statement [ is true but Statement II is

false

(d) Statement]I is false but Statement II is
true

Statement | : India’s share of world

manufacturing  output
steadily declined during the
19" and the 20* centuries.

Statement II : There was no absolute
decline in production in
India during the colonial
rule.

*h
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The Comptroller and Auditor-General of
India can be removed from office only by :

(a) President on the advice of the Union
Cabinet.

(b) Chief Justice of the Supreme Court.

(c) President of India after an address in
both Houses of Parliament.

(d) President on the advice of Chief Justice
of india.

Which one of the following is under the
contro! of the Ministry of Defence ?

{a) Indo-Tibetan Border Police
(b) Rashtriya Rifles

(c) National Security Guard
(d) Sashastra Seema Bal

Which of the following statements with
regard to construction of ratlways in colonial
India by the British companies is /are NOT
true ? '

1. The companies were guaranteed a
return of 5 per cent on their investment
by Government of India

2. The railways were to be managed
mainly by the Government

3. There was no system of preferential
freight charges

4. The companies were to get the land
free from the Government

Select the correct answer using the code

given below :

(a) land3

{b) 2and 3 only
(c) 4only

(d) 2,3and4 _
(Contd.)
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According to Granville Austin, which of the
following was / were the most significant
contributions of India to constitution-
making ?

(a)
{b)
{c)

Majority rule and minority rights
Consensus and Accommodation

Social revolution and Political
Freedom

(d)
Jammu and Kashmir Light Infantry is :

Asymmetrical Federal structure

(a) A Central Paramilitary Force
{b)

A force maintained by the state of
Jammu and Kashmir

(c)
(d

Which of the following represents the main

A regiment of the Indian Army

None of the above

phases of the Quit India Movement ?

1. Strikes, boycotts, and picketing in
urban centres

2. Widespread attacks in rural areas on
the many symbols and means of
colonial rule and authority, e.g.

and

railways, telegraph lines,

Government buildings
3. Formation of Home Rule leagues

4. The ‘Kamataka method’

Select the correct answer using the code

given below :
(a)
b)
(c}
(d)

1 and 2 only '
2,3 and 4
1,2and 4

1 and 4 only
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10. The Special Provisions in Article 371G of

11.

12.

b

13.

the Constitution of India relate to the state
of :

(a) Jammu & Kashmir

(b) Jharkhand

(c) Mizoram

(d) Nagaland

Who among the following resigned from his
post in the year 2014 ?

(a) Chief of the Air Staff

(b) Chief of the Naval Staff

(¢) Director General Coast Guard

(d) Chief of the Integrated Defence Staff

Which of the following was / were NOT
part/parts of the RIN Mutiny ?

1. Indian National Army

2. HMIS Talwar

3. Hunger strike by naval ratings
4. Lord Irwin

Select the correct answer using the code
given below :

(a) 1and?2
(b) 2and3
{¢) land4
(d) 4only

The locus standi rule to move the court was
liberalized by the case of:

(a) S.R. Bommai v. Union of India

(b) Minerva Mills v. Union of India

(c) S.P. Gupta v. Union of India

(d) Kesavananda Bharati v. State of Kcrala

(Contd.)
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17.

Who heads the Defence Acquisition
Council ?

(a) Defence Minister

(b) Defence Secretary

(c)} Chief of the Integrated Defence Staff
(d) Director General (Acquisition)
Balgangadhar Tilak was éssociated with :
1. Poona Sarvajanik Sabha

2. The Age of Consent Bill

3. Gaurakshini Sabha

4.  Atmiya Sabha

Select the correct answer using the code
given below :

(a) 1and2only
(b) 1,2and 4
(c) 3and 4

(d) 2and4only

The provision under Article 350A of the

Constitution of India relates to the :

(a) right of any section of the citizens to
Y !
preserve its distinct language and
culture :

{b) right of the Sikh community to carrying
and wearing of kirpans

(c) provision for providing facilities for
instruction in mother-tongue at primary
stage

(d) freedom of Minority-managed

educational institutions from
discrimination in the matter of
receiving aid from the State

The equivalent rank of Commodore of
Indian Navy in the Indian Army is :

(a) Brigadier

{b) Lieutenant Colonel
(c) Colonel

(d) Major General

* O\
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The proposals of the Cabinet Mission did
NOT include :

1. a three-tier structure for the Union of
India, with both the Provinces and the
Princely States

formation of a Constituent Assembly
creation of a sovereign Pakistan with
six Muslim-majority provinces
Select the correct answer using the code
given below :
(a) land3
(b)Y 3only
(c) 2only
(d land2
Which of the following are provided in India
by the Right to Education Act ?

1. Right of children to free and
compulsory education till completion
of elementary education in a
neighbourhood school

2. Prohibition of deployment of teachers
for non-educational woarks, other than
decennial census, elections to local
authority like State Legislatures,
Parliament, and disaster relief

3. Right of minorities to establish and
administer education institution

4. No citizen shall be denied admission
into any educational institution
maintained by the State or receiving aid
out of State funds on grounds only of
religion, race, caste, language or any
of them

Select the correct answer using the code
given below :

(a) 1,2and4
(b) land3
{(¢) 2and4only
(d) 1and2only
(Contd.)
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INS Vikramaditya is the name of :
(2) an aircraft carrier

(b) anuclear submarine

(¢) amemorial for the sailors
(d) anaval hospital

Which one of the following statements
concerning the Freedom and Partition of
India is NOT correct ?

(a) In February 1947, British Prime
Minister Attlee announced that the
British were not geing to transfer
power to Indians, come what may

(b) Lord Wavell advocated total
withdrawal of the British from India
by 31 March, 1948

(c) Itwas Lord Mountbatten who speeded

up the process of transfer of power

(d) The Plan Balkan was abandoned on
account of Nehru’s opposition to it

According to Article 3 of the Constitution
of India, the Parliament may by law :

1. declare war on any country

2. alter the boundaries of any State
3. increase the area of any State
4

establish an Autonomous Council
within any State

Select the correct answer using the code
given below :

(a) 3only

(b) 1,2and4
() 2and 3 only
(d) 1,2and3

* 00
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24.
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Which one of the following best describes
the Andaman & Nicobar Island Command ?

(a) A cyber security command

(b) Aunified command comprising Army,

Navy, Air Force and Coast Guard

(¢) A unified command comprising Navy
and the Coast Guard

(d) One of the commands of the Indian
Navy

Match List-I with List 1T and select the
correct answer using the code given below
the Lists : '

List-1 List-1
(Peasant (Leader/
Movement) Follower)
A. Bakasht Land 1. Baba
Movement Ramchandra

B. Eka Movement 2. Kunhammed Haji

C. Mappila 3. Madari Pasi
Rebellion
D. Avadh Kisan 4. Karyanand
Sabha Sharma
Movement
Code :
A B C D
(a) 4 3 2 1
by 4 2 3 1
) 1 2 3 4
@ 1 3 2 4
(Contd.)
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Which of the following committee/
committees submitted reports on Electoral
reforms ?

1. Dinesh Goswami Committee
2, Tarkunde Committee

3. Indrajit Gupta Commitiee

4. Balwantrai Mehta Committee

Select the correct answer using the code
given below :

{(a) 1,3and 4

(b) 2and4

(¢) 1,2and3

(d} 3 and 4 only

BrahMos is the name of :

(a) ashort-range supersonic cruise missile

(b) an air defence gun

(c) amilitary satellite

(d) a multiple rocket launcher

Match List-I with List-II and select the
correct answer using the code given below
the Lists :

List-1 List-11
{Movement) {Mass bqse/
Following)
A. Bardoli 1. Bargadars
Satyagra.ha
B. Tebhaga 2. Kaliparaj
C. Satyasodhak 3. Mundas
Samaj
D. Ulgulan- 4. Kunbi peasantry
Code :
A B C D
{a) 2 4 1 3
by 2 1 4 3
(¢} 3 4 1 2
(d) 3 1 4 2

28.

29.

30.
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Under Article 355 of the Constitution of
India, it is the duty of the Union to :

(a)

protect States against external

aggression and intemal disturbance

allow the extension of executive

(b

powers of the Union to any State

(©)

declare that the powers of the
legislature of a State shall be
exercisable by or under the authority

of the Parliament

(d) allow the Parliament to include or
exclude any caste, race or tribe into the
list of the Scheduled Castes or

Scheduled Tribes

The present cap (as on 01.01.2015) on
Foreign Direct Investment in the defence

sector is :
(a) 26%
(b) 49%
(c) 74%
(d) 100%

Who functions as chairman, Chiefs of Staff’

Committee ?
(a)
(=)

Defence Minister

The longest serving Chief among the

Chiefs of the three services
(c)
(d)

The Chief of Integrated Defence Staff
The Chief of the Army Staff

{Contd.)
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Which one of the following was NOT the
feature of the- Home Rule movement in
India ?

(a)
(b)

Boycott and Picketing

Two separate Home-Rule Leagues
rather than one All-India Home-Rule
Organisation

{(c) Setting up of discussion groups and
reading rooms

(d)

The 2 Administrative Reforms Commission
has produced Reports on :

Sale and circulation of pamphlets

1. Ethics in Governance

2. Local Governance

3. Combating Terrorism

4. Eradication of Corruption

Select the correct answer using the code
given below :

(@) 1,3and4
® 2,3and4
() 1and 2 only
@ 1,2and3

All proposals for acquisition of weapon
systems involving capital expenditure of
more than Rs 1,000 crore require the
approval of the :

(a) Defence Minister

(b) Prime Minister

(c) Cabinet Committee on Economic
Affairs

{d) Cabinet Committee on Security

34,

35.

36.

IV. CAREERINDIA

Which one of the following statements is
correct ?

(a) Indiais the largest importer of defence
equipment in the world

(b) The United States of America was the
second largest exporter of defence
equipment to India in 2014

(c) Russia has stopped exporting defence

equipment to India

(d)

India meets not more than 25 per cent
of its requirement of defence
equipment through import

In 1893, there occurred a split in the Arya
Samaj on the issue(s) of :

1. Meat-eating vs vegetarianism

2. Caste system and widow remarriage
3. Shuddhi of converts

4. Anglicised vs Sanskrit-based education

Select the correct answer using the code
given below :

(a) 1,3and 4

_(b) 2and4 .

{¢) 1and4only
(d

The National Human Rights Commission
has :

1. a Chairperson who has been a Chief
Justice of Supreme Court or a High
Court of India

2. one Member who is or has been a
Judge of Supreme Court

1 only

3. one Member who is, or has been the
Chief Justice of a High Court

4. two Members to be appointed from
amongst persons having knowledge of
or practical experience in matters
relating to human rights

Select the correct answer using the code
given below :

(a) 1,2,3and 4
(b) 1,2and 3 only
(¢) 1and4only

(d) 2,3 and4 only
(Contd.)




31.

32.

33.

R

Preafafaa ¥ 3 a7 & &, wa ¥ @W

&4 e @ fdwa & 4 ?

(a) fespR qur g

(b) W AEd wdE 9w wA B
T UT A YEE EF &AM

(c) @= W@l qm ara-eR # T

(@) gRawel (Owdew) 1 @ e R

ey vt gu s 3 B fawa

w e A & & 7

1. wEd ® smER-Aify

2. =g wmwA

3. ¥dHATE HT FHAT FIAT

4. IEER F IAT

I Ry T e & W@ FT el I
T .

(@) 1,33 4

(b) 2,33 4

(c) ®ad 13 2

(d) 1,23 3

% 1,000 FU3 A e oma & g yunkedt

F ditwew & gl ywEr A EE s
# IEEEdr Bt § 7

(a) TEHA
(b) TuTEA
(c) ¥if¥fFE nmel & whredn bRy
(d) gar AR N whwsdu wfvfy

34,

35.

36.

IV. CAREERINDIA

frefafad & & #19 @1 o oy qdi 27
(a) wta, feg & N w1 gd
93T AWEh 37 2

(b) 2014 % HYF TW IOH W
. e Juwen w frafd s g
qEU GG ST W oo

T A ARG P W IUEO
frafg «xaT s wy four 2

AT T JIHN F T ravgenar
1 AfHTH 25% & FWE GO T
a2

1893 % fu/ M from/fasdi ox amd wmrt
T fdre g ?

1. AEEI &9 wFHE

2. Wiy s@ewr gem fmar gAfdam

3. wni-afa =afwdl & ufa

4. elidd A TFd waRa Bren
M Ru e #z w1 @ F 8 IR
gfAT -

(c)
(d)

(@ 1,33 4
(b) 23T 4

(c) @3 13T 4
(d) Fad 1

AT AAG-ATHC s

1. & 3EEeT BT 8, 9 W & JvudH
qraraa sgar Y = cumiay w5
T A ® g A

2. UH §IH B &, W IeudH U
F U € suar w® gE &

3. TF 9 BT &, 91 R I=w gy
F e Al & Fuar w gE oA

4. T gawm B E, A FH
R F O &t B & e
AAGTESIR § §&fd Amel &1 91
B Yl WEEE A &

A R 1@ %z ®1 W FC T IH

(@) 1,2,33MX 4

(b) ®ad 1,2 AT 3
(c) Had 1 X 4
(d) Haq 2,3 3T 4
{Contd.)




37.

38,

39.

40.

41.

GRSE, BDL and MIDHANI are acronyms
of

(a) Defence Public Sector Undertakings
(b) Chemicals used for making rockets
{c) Ammunition used in tanks

(d) Communication satellites
President’s Bodyguards is :

(a)

a police force under the control of the
President’s Secretariat

(b)
(©)
(d)
Where and when did Mahatma Gandbhi first

use his method of hunger-strike to achieve
a desired goal ?

(a) At Natal in South Africa in the year
1906

a paramilitary force
a unit of Delhi Police

none of the above

(b)
(c)
(d)

At Champaran in the year 1917
At Ahmedabad in the year 1918

At Cape Town in South Africa in the
year 1906

Who among the following has authored the
book ‘The Idea of India’ ?

(a2) Khushwant Singh
(b) Shashi Tharoor

(c}
(d)

Who is the Supreme Commander of the
Indian Armed Forces ?

(a)
(b)
(c)
(@

Sunil Khilnani

William Dalrymple

President
Prime Minister
Defence Minister

Longest serving Chief of Staff

42.

43.

45.

(a)

IV. CAREERINDIA

‘Cheetah’ and ‘Chetak’ are the names of :
(a)
(b)
(c)
(d)

Border Roads Organization is under the
administrative control of the :

(a)
(b)

Fighter aircrafts
Helicopters
Armoured vehicles

[nfantry regiments

Ministry of Defence

Ministry of Road Transport and
Highways

Prime Minister’s Office

Indian Army

(©)
(d)

Which of the following were the main
influences on Vasudeo Balvant Phadke ?

1. Experience of the Deccan famine of
1876-77

2. Hindu revivalism
3. Theory of Drain of Weaith
4. Reformist idea of Phule

Select the correct answer using the code
given below :

I,2and3
(b) 2,3and 4
(c)
{d) 2and4only

1 and 3 only

The Punchhi Commission report was related
to:

(a) Centre-State relations
(b) Electoral reforms
(c) Fiscal federalism

(d) Creation of new States

(Contd.)
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37.

38.

39.

40.

41.

GRSE, BDL @1 MIDHANI & oftauff
e (UifH) B 7

(a) OE@YS &F P TN ITHA

(by Twe-Frain # yyaw e

(¢) TH & ygw Mw-ETER

(d) SER-IuUE

TeHl B HRER FAT B 7

(a) UecHfr-wfaem & fromd= e
T

(b) addfrF s

(c) =l gfom A & gfe

(d) IR §F FE

weTeRT N F, qifoq Iww A g @

fore, we-ssara W A9 ggfa F gdyww

ygmr #el R F9 fEm oar ?

(a) TMET 3w B AT X as 1906 ®

(b) =g ® adf 1917 A

(c) ¥pwgag ¥ ad 1918 &

(d) =W I F HY ereT ¥ oaw
1906 ®

frafafem & & e R asfwr ofe

ear A qw R B 7

(a) gwaa fie

(b) ¥ u&x

(¢) gfer Ry

(d) fafrm 3afaa

T §oed 9 & wafw wwist

T B 87

(a) TSEf

(b)  FETARA

(c) T&HAT

(d) 998 oY o9 9% JAa ATEE

42.

43,

44,

45.

IV. CAREERINDIA

Har qa Jdw FAF oAm E ?

(a) ZT&d I

(b) Befprex

(c) gwiErs misar

(d) Tew ¥ (TH) w WA

& T g7

(a) &M HATTH

(b) 4% u@es W TEHI HAH
(c) vaTHAl FETay

(d) FNT gaRAl
Freqfafes ® & &4 &, 9ges sweed
HgH UL USH A YHE gNE ¥ 7
1876-77 % zFA gler F1 Fwa
2. fég g

3. gt AgEE (37 I Iew) # Feaia
4, Ha w1 guwER fFER

A9 Ry @ 5z &1 wwm w1 @ 3w
AT

(a) 1,23T 3

(b) 2,33 4

() 3@ 13 3

(d) Faa 2 X 4

I R # R Bed gafug f 2
(a) PE-TY TEY

(b) Frafa gar

(¢) T wuTsy vafa

(d) 7T T F owAA

i

{Contd.)




46.

47.

48.

49,

‘Demand Polity’ and ‘Command Polity’.are

terms associated with :
(a)
(b)
(c)

David Washbrook
Helen I, Tinker

Lloyd I. Rudolph and Susanne
H. Rudolph | '

(d)
Which one of the following is the principal

Rajni Kothari

place of sitting of the National Green

Tribunal ?

(a) Kolkata
(b) Hyderabad
(¢) Lucknow
(d} New Delhi

In January 2015, Government of India
approved the establishment of a Neutrino
Observatory at :

(a) Bodi hills in Tamil Nadu

(b) Kaina hills in Manipur

(c) Jampui hills in Tripura

(d) Nallamala hills in Andhra Pradesh

Who among the following was NOT a

Communist leadet in colonial India ?
(a) P.C. Roy

(b) - S.A. Dange

{c} Muzaffar Ahmad

(¢} Singaravelu

IV. CAREERINDIA

50. Who among the following were well known
as champions of women’s education in
colonial India ?

1.  Sister Subbalaksmi

2. Begum Rokeya Sakhawat Hossain
3.  Keshub Chandra Sen

4.  Ananda Coomaraswamy

Select the correct answer using the code

given below :
{a) 1,2,3and4
{b) 1,2 and3 only
{c) 3and4only
(d) 1 and?2 only
51. Match List-I with List-1I and select the
correct answer using the code given below
the Lists :
List-1I List-1I
(Person) (Political Party)
A.B.R. Ambedkar 1. Pakistan Muslim
League
B. Sikander Hayat 2. Krishak Praja
Khan Party
C. Fazlul Hug 3. Unionist Party
D. Khaliquzzaman 4. Independent
Labour Party
Code :
A B C D
(a) 4 . 2 3 1
(b)y 4 3 2 1
© 1 2 3 4
d 1 3 2 4
(Contd.)




46, ‘Temis wiferdy gen wwis offerdt fred
qafm e £ 7
(a) Sfc amgs
(b) W7 I, fewx
(c) difas e, TSIeh qul o TH. &Sl
(dy A el

47. frafafea # @ 717 @1 @&, Ty =Ra
s (AwAd i Rsgad) # gaA
dow w1 A B 7 |

(a) FIAHET

(b) BETERE

(¢) @73

(d) 7 fech

YIE §ER 4 9ead 20159 e s
T AgRAT Jgamen & A 1 SiEl
q 7 '

(a) FPerTg H A el

(b) ®RgR H g gerrgut

() Prgu & wvgg wefem

(d) g ¥ e gedl

48.

Prefafeg ¥ ¥ 7, MPAIRE @ F
grgardt A (Fgfree det) 7@ a1 ?
(a) 9L W

49.

(b) THU S
(c) HFHRT A%
(dy Rymag

T EAREERINDIA
So. Preffers 3 & w7, shoPrm W ¥

ot e S/6 geng gwax 947 2
forrer geash

A TR FEEd g2

FuE wg A4

4. S EREE

e Ry U w5z & w@m &Y w9 IR
T
(@) 1,2,330T 4
(b) ®ad 1,2 33
(c) dad 3 M 4
(d) Paa 1 A2

51, -1 11 & ol Ao qon gt
F A= Ry e g 1 W T g I
kel

1.
2.
3

-y

g1l
(aafaa) (o difds &)
A, SLITC IFEEHT 1. e e
Sk
B. sy gud 2. o wa widd
I
C. g & 3. Prbree ot
D. weftagsem 4. 3T qwx
et
T -
A B C D
(@) 4 2 3 1
b) 4 3 2 1
() 1 2 3 4
@ 1 3 2 4

(Contd.)




53

54.

55.

(©)

The term “Congress System’ was coined
by : '
(a)
(b)
(¢) James Manor

(d) Christophe Jaffrelot

Under Section 10(26) of the Income Tax
Act, which of the following category of
people are exempted from income tax 7 :

(a8) Members of the Scheduled Tribes in
Chhattisgarh

Members of the Scheduled Tribes and
the Scheduled Castes in Special
Category States

D.L. Seth
Rajni Kothari

(b)

Members from the Economically
Backward Class in All States

Members of the Scheduled Tribes in
States of Manipur, Mizoram, Nagaland
and Tripura

The 9" Schedule to the Constitution of India
was added by the :

{a) Third Amendment Act
(b) Fourth Amendment Act
{c) First Amendment Act
(d) Sixth Amendment Act

Which one of the following statements with
regard to the Union Budget of India for the
year 2015-2016 is NOT correct ? '

(a)

(d)

India Financial Code to be introduced
soon in the Parliament

(b)

Allocation in defence sector is kept
unchanged at around 5 % of GDP

A Student Financtal Aid Authority wiil
be instituted

()

(d)

No change in the rate of personal
income tax

56.

57.

58.

59.

IV. CAREERINDIA

In order to create awareness among the
people regarding endangered species of
tortoise, in the month of February 2013, the
third Tortoise Festival was held at

(a)
(b)
(c)
(d)

Which one of the following Grand Slam
Tennis Tournaments had the highest total
prize money (in terms of US Dollars) in the
year 2014 7

Hajong Lake, Assam
Chilka Lake, QOdisha
Loktak Lake, Manipur
Umiam Lake, Meghalaya

(a) Australian Open
(b) French Open
(¢) Wimbledon

(d) US Open

Which one of the following statements about
the Gandhi-Irwin Pact is NOT correct 2

(a) Gandhi wrote a letter seeking an
interview with the Viceroy

Civil Disobedience movement was to
be discontinued

(b)

(c)

The imprisoned freedom fighters were
to be released

All the lands that had been confiscated
were o be returned to the original
owners

(d)

Which one of the following is believed to
be a compilation of the psalms sung by the
women ?

(a) Sumangalavilasini
(b) Therigatha
(¢} Stridharmapaddhati
(d) Ritusamhara
(Contd.)
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52. ‘Fw fEew’ wee féwa mer w 7 56. wa1 H FGH B FHcwT el gl

53.

_

(a) dud. ¥ ARl Jeaeq B & A EwREd 2015
(b) Wt @l ¥ figT Hgu Ao fBu i W amifi
@) s e (a) &I #,

swT sfEFTE & gra 10(26) F AT
frafafes & & fre ooft (@) &
afRdl # ymFe & g & M § 7

I 5% 2, smfafda war mor @

(b) T s, iz
(c) ®Fesd e, AR
(dy 3w Aa, Ay

(@) ofwmg ¥ e o @ 57, PrefRm ¥ 3 B o ¥s @m 2P
GRS At # af 2014 ¥ FA R
. (b) TS St & Twdl F gl wfeal (US st &) wad it &t 7
# [z K (GO B ) (a) sEfE sl
. (c) & U= ¥ anitfe w7 ¥ R =il (b) ®F Ao
§ we _ (c) farawsa
(d) #fg, ferw, Avmds @w fga d) US s
T A Fgiad Fenol & 6 .
. . 58. wi-3Re gwstar & st # Preafofae &
54, v & wlRgr # oA s B 3 RN o oow FuaT ol AEF R 7
gmgs sfafe g St w© ? | w .
. (@) TEH A TAETY P Y WEH AT
(2) dwu wmgT s T R
(b) e weneF sftfrw (b) ¥R W WEEH B @A R
(¢) Wea wanegd fbfreR S
(d) BB FMmaT stufram (c) FIREW ¥ §3 w@adar It 1 B
55. WX & a9 2015-16 F Y ® 9 F ST o
. TR A, Prafafes ® @ 9179 @1 @ ®979 (d) wwed aftga ol g wfhd ®
ud TR 7 | auE e d
' @ T 'a;""mismmg' 59. Preafifers % @ P @ @R ¥ w
it ) g o s 8 & @ Bl gra we
(b) T &F & FA&ed, Wt GDP &

W4 a9 A 6 qUs & 7

(c) o g gewar wftsw ofg @ ¥
Ry T (b) afamn
(d) af¥ama SR A 2T ¥ S oiadT () ehumTg
Ty (d) HgHER

(Contd.)




60. The Rajya Sabha can withhold its consent

6l.

62.

to a Money Bill for :

(a) 14 days

(b) 15 days

(c) 30days

(d) 18 days

Which of the following reasons were cited
by the Ashok Mehta Committee for the

decline of the Panchayati Raj Institutions
in India ?

1. Role of Bureaucracy

2. Lack of Political Will

3. Lack of conceptual clarity
4. Lack of gender parity

Select the correct answer using the code
given below :

(a) land4

(b) 2and 3 only
(¢) 1,2and3
(d) 2,3and4

Which one of the following statements with
regard to the Saansad Adarsky Gram Yojana
18 NOT correct ?

{a) N was launched in the year 2014 on
the birth anniversary of Lal Bahadur
Shastri

(b) Members of the Parliament will adopt

villages to create model villages .

(c)

District Magistrates will act as
coordinators

A Rajya Sabha MP has to choose a
Gram Panchayat in the State from
which he or she was elected

(@)

63.

64.

63.

(a)

IV. CAREERINDIA

Which one of the following statements with
regard to the ‘Make in India’ initiative of

the Government of India is NOT correct 2

In order to guide the foreign investors,
a body named ‘Invest India’ has been

created

(b)

The Government has identified key
sectors with potential to attract

investment

(c)

The initiative also aims to identify
selected domestic companies having
leadership in innovation and new
technology for turning them into global

champion

(d)

The programme is being implemented

by the Ministry of Finance
Amarasimha is the name of a :
(a) famous lexicographer of ancient India
(b} Rajput king of Chalukya lineage

(c) poet mentioned by Kautilya in his

Arthashastra
(d) dance form of Odisha
The Tolkappiyam is the name of :
(a) a step-well of Western India
(b) the book on Tamil grammar
(¢) acollection of Tamil bhakti poems

(d) a collection of Kannada poems

(Contd.)
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60. TeuE 89 fagus W Iy sl e

61,

62,

el aF & adt 2 ?

(a) 14 &7

(by 15 R=

(c) 30 %=

(d) 18 &=

d ¥ deEd U geal @ W B fg

S Hedl G g Frefafas ® @

FT ¥ PR §@¢ ¢ Y 7

afrrl-dx A ffae

REELRCE SNl i G

HYCTAHS (VA ) TIvear 1 I

form wwenr (S3x AR = avE

M R gz &1 W F 98 IW

ﬁﬁ.q:

(a) 130X 4

(b) dad 23 3

(c) 1,23 3

() 2,39% 4

wEE eyt uw Ao @ watha, Pt

¥ & ®9 § & wu qd @ &7

(a) u& ad 2014 ¥ wEeTgC el A
TEel 9T Ao A TR

(b) §Wg wWa @, Iy TW AR B
fere s

() Frer e woams 3 w1 ¥
F

(d) TSHEWT F §E5 F 39 Toq X @
f&h wm JEme w1 g Fom dm
R 78 Praffm gan/gd 2

P T

63.

64.

65.

IV. CAREERINDIA

I ¥R # A T SRW wa @
g ¥ Praffad ¥ 217 91w wuA
wé T4t ¢ 7

(a) fageh PRw= & quuees £33 3
™ #

(b) @R 7 39 @ AFY N B
7 2 A fanh faw & awile
A W gAREET @

(c) 59 usd #1 g fl @ew & B
e wig FofE @ ggEr @
g s Fagada @ 4 drfieh
HT 96 Aged & o I8 Ak faar
(hew W) $ w7 F Tod @

(d) & FdFT 9 waay g FRifad
fFar s @ 2

s Fredr AW 2 7

(@) ¥ WRT FT gufes FmER

(b) WGF W H TG A

(c) Ffeew qra A spfamer ¥ Ifeafan
LI

(d) Afzm =t @ R
dieres e am g ?

(a) Wt W@ ¥ & aEd

(b) ofE @t W gEE

(¢ da wfR Flaaek &1 @ dus
(d) 15 Ffaael =1 w wUE

(Contd.)




66. Consider the following figure matrix :

ORWANEE
ARG
o- 2

Which one of the following will complete

the figure given above ?

i
o A
© | /a\

67.

68.

IV. CAREERINDIA

Consider the following figures :

€ o) T
Q| —| A,

SRR

7

Which of the following group(s) of figures
fit/fits into the same class ?

1. {1,7,8)
2. (4,5,6)
3. (2,3,9)

Select the correct answer using the code
given below :

(a) 1 and?2 only
(b) 2 and 3 only
(¢) 1,2and3
(d) 3 only

Various landforms observed on the surface
of the earth are due to the: -

1. differences in the type and structure of
the crustal material

2. differences in the land forming
processes

3. differential rates of the processes at
different places on the Earth’s surface

Select the correct answer using the code
given below :

{(a) 1only
(b) 1land2only
{(c) 2and3 only
(d) 1,2and3
(Contd.)
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66. fFPrfafea fax arege ot faa i . 67, PR Rl ox fReme il .

O|A|[ €| L] T
A ® @ O4 I Aﬁ
of | (| ? | lj? }3 ®9

- Rt & Prerfofe awp /el # & Se/d
Preaffe @ & 19 @ & S R W o & @ ¥ ugF ww ¥ smem/sndd ?

' fed =1 g won 7 1. (1,7,8)
| ‘ ' 2. (4,5,6)

3. (2,3,9)

@ W iy Ry m e F oW ] OAE IW
iﬁq:

(@) FIq 13T 2

(b) Fad 2 ;T 3

(cy 1,23 3

(d) #ad 3

68. Jot A waw TC.AA WA aeh ffie

‘1\3"3;3‘5' ] FHIIT .
09 werd F W A g X

e ¥

2. s-fmfn & ikl & fesad &
-9 o fafe et ox ghmi
# Ry afat &

¥ Ry U Hz w1 W T wE I

Eﬁ’Q:

(a) Had |

(b) ®ad@ 1 MT 2

(¢) Faa 2 3 3

(d 1,230 3

(b)

(©)

> | (P

(d)

23 (Contd.)




69.

70.

Under which of the following condition(s)
the occluded fronts are created ?

1. When the front remains stationary

2. When cold air mass moves to warm
air mass

3.  When warm air mass moves to cold
air mass

4.  When an air mass is fully lifted above
the land surface

Select the correct answer using the code
given below :

(a) land?2

(by 2and3

(¢) 3and4

(dy 4only

The following item consists of two
statements, Statement [ and Statement I1.
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

(a) Both the statements are individually
truc and Statement II is the correct
explanation of Staternent [

(b)

Both the statements are individually

true but Statement I is NOT the correct.

explanation of Statement |

Statement I is true but Statement II is
false

{c)

(d)
true

Statement | : Cétalytic hydrogenation is
highest when the catalyst
remains in the powdered

form

Statement Il : When a catalyst is in the
' powdered form, its surface

area becomes highest

Statemnent [ is false but Statement 11 is

71.

Which one of the following statements

regarding baking powder is NOT correct 7
(2) It is amixture

(b) It forms bubbles in a wet mixture

{(¢) It can be used instead of using yeast

(d) It does not contain sodium bicarbonate

The next fwo (02) items are based on the

following Table :

The following table shows the frequency

distribution of weekly wages of 65 employees :

Wages (in Rupees) | No. of employces
251260 g
261—270 10
271—280 16
281—290 14
291—300 10
301316 5
311—320 2

72. What is the percentage of employees earning

* less than Rs. 301 per week but more than

Rs. 260 per week ?
(a) 61.5

(b)
()
d)

76.9
89.2

84.6

(Contd.)
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69.

70.

Praffe & @ R/t Rafa/Rufedt

# sfifaee (stpds) aam g @

2/ém 8 7 |

1. 9@ qam Rt wa &

2. @@ ¥iiq o weld, I a1y defd =
ar nfa w2

3. W& 3w qg ¥, ¥ ag "@efr &

I Tl w2

4. w9 oy gl qof =9 @ ofy F woe
% FAT IS 9w B

¥ Ru g Kz 1 7@ FT @ IW
e -

(a) 132

(b) 28T 3

(c)33ﬂ'(4.

(d) *ad 4

freafofas wevior § < Fy9 8, F9A-1

A FA-I1 1 T ] FUAT T FAEEIER

ol T 39 yEAiE & 39X A9 Ry

Y HE A WA & AT ¢

T

(@) F FAT FAT-3@W T §, AN
FYA-]l, FUA-1 W TH TSR
N _

(b) IR T FM-3HCM Ty B, g w0,
FUI-] F wE el 4 2

(c) Fu9-1 &g 8, Frg wa-11 Iwey 2

(d) ®ud-1 secy 8, fhg su7-11 94 &

FAA-] . IAF D gla FEEwm F @A

T I BRI RR L ftEaw
a2

Foa-10 : fhdft Sciew & gfa saear X
B 9T I I FrT AEHAH
CIEICI

Q:AHEEIIINIIIA
71. afen 9@sy & ey ¥ Prefoafen wuAt
@ a9 a1 v §é wd BT
(a) 6 TF fymr 2
(b) T % M ¥ qage s @
(c) TF I AR (fee) & wE W
@ gwar 8
) T QfER aeeEide @ dar
I & (02) geArm Prafafas @fer o
wuha B
Preafafe ot # 65 s = @aiies
LECATCICANE ECIEGIEE G RRET U U

worgd (et W) | wifaEr s
251260 8
261—270 10

271280 16
281—290 14
291—300 10
301—310 5
311—320 | 2

72. 9% e 301 & § FH Wig 260% @
A FAA A FH=E o =
g7
(a) 61.5
(b) 76.9
(c) 89.2

- (d) 846

{Contd.)




73.

74.

75.

What is the difference between the
percentage of employees earning between
Rs. 261 and Rs. 300 per week and
employees eamning less than Rs. 281 per
week 7

(a) 36.9%

by 153%

(c) 246%

(d) 282%

Which one of the following factors is NOT
connected with planetary wind system ?

(a) Latitudinal variation of the atmospheric

heating :
(b)
(c)
(d)

Emergence of the pressure belt
Earth’s revolution around the Sun

Migration of the pressure belts due to
apparent path of the Sun

Match List-I with List-I and select the
correct answer using the code given below
the Lists :

List-1 - List-IT
{Volcano type) (Location)
A. Shield Volcano 1. Indonesia-
B. Composite 2. India

Volcano
C. Caldera 3. Hawaii
D. Flood Basalt 4. Philippines

Provinces
Code :

A B C D
(a) 2 4 1 3
by 2 1 4 3
) 3 1 4 2
d 3 4 1 2

76.

77.

IV. CAREERINDIA

Match List-1 with List-II and select the
correct answer using the code given below
the Lists :

List I List-11
(Compound) {Colour)
A. Urea 1. Blue
B. Hydrous copper 2. White

sulphate
C. Lead sulphide 3. Pinkish purple
D. Potassium 4. Black

permanganate
Code :
A B C D
(@ 2 ] 4 3
(b) 2 4 L3
() 3 4 2
d 3 1 4 2

The radius of a hydrogen atom is 10'* m.
Number of hydrogen atoms necessary to
have a length of one nanometre is :

() 6.023 x 10
(b) 10

© 5

(d) 100

The next twe (02) items are based on the
following Table :

No. of students studying in different standards
of 6 different schools

tandard
School 1 11 m | v V| VI
A 42 54 | 48 | 58 50 38
B S0 | 60 | 58 | 45 45 | 46
C 40 | 48 | 58 | 46 42 | 54
D 45 55 46 | 40 521 50
E 48 55 | 44 ¢ 55 521 48
F 51 52 54 | 42 60 | 54

(Contd.)




73.

74.

75.

gfd &g 261 & M 300% # 9w T
are FrERal s ufy www 281 % ®
F9 A A wfEial & Reear §
fhaT 3fae & ?

{(a}) 369%

(b) 15.3%

(©) 24.6%

(d) 282%

frefofed wehl ¥ § #9 @1 & Pedy

(@A) A & welw A€ 2 7

(a) IgHs @9F 1 Fershy fa=reo
(b) == wegw & Prfaa

() 9=t = gd F uim: wRymw

(d) g # ge-um B FO @ wfewdl

H YA

-1 6 -1 & gaf iRy qur i
# A Ry T Fz &1 vl s @ I
T -
g1

g1
(varemet #r (raRefa)
q9FT)
A TER (Wes) 1 =R
S
B. Py s@mEt 2. W@
C. W 3 3, gard
D. qr-3awe &7 4. fhchdew
T .
A B C D
(a 2 4 1 3
(b) - 2 1 4 3
€ 3 1 4 2
d 3 4 1 2

77.
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SEE:GINIE q T
?ﬁ% &?Trq iﬁ?ﬁ% aﬁ?ﬁﬁ?
T

- g1

(a1fir) (z7)

A TR 1. Aew
B. wdflw T 2. w4
qehT
C. ds woHss 3. -
D. urfmm 4. A
AT
E S
A B C D
@) 2 1 4 3
b 2 4 ! 3
© 3 4 1 2
@ 3 1 4 2
T FREA Y] A Bwar 100 m
21 & Apiex dod ¥ oo wed aw
@TTT BRI T A Hewr fhaeh
() 6.023 x 102
(by 10
() 5
@ 100

I q (02 v frefafee ol o
amafa & .

6 R Tl A At wers § el

BT A FEn
Gl
et I Il I V.| V[ VI
A 42 | 54 | 48 | 58 | 50| 38
B 50 | 60 | S8 | 45 45 | 46
C 40 ( 48 | 58 | 46 42 | 54
D 45 | 55 | 46 | 40 | 52| 50
E 48 | 55 | 44 | S5 | 52| 48
F 51 52 | 54 | 42 60 | 54
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78.

79.

80.

What is the average number of students
studying in Standard I from all schools
together 7

(a) 50
(b) 48
(c) 43
(d) 46

What is the respective ratio of students
studying in Standard Il of schools A and B
together to those studying in Standard VI of
schools C and D together ?

(@) 53:52
(b) 43:47
(©) 25:27
(d) 39:38

Match List-I with List-II and select the
correct answer using the code given below
the Lists : '

List-I List-11
(Landform feature) (Location)
A. Alluvial fans 1. Mountainous
Areas

B. *V’-shaped 2. Coasts

valleys

C. Deltas 3. Lower Reaches
of the river

D. Ox-bow lakes 4. Mountain
Foothills

Code !

A B C D
(a 4 1 2 3
by 4 2 1 3
(©) 3 2 1 4
@ 3 1 2 4

81.

82.

IV. CAREERINDIA

Match List-1 with List-II and select the
correct answer using the code given below
the Lists :

List-I List-11
(Tropical Cyclone)  (Location)
A. Cyclones - 1. USA
B. Hurricanes 2. East Asia
C. Typhoons 3. Australia
D.. Willy-willies 4. India
Code :

A B C D
(a) 4 2 1 3
(b) 4 1 2 3
© 3 | 2 4
d 3 2 ] 4

Match List-I with List-I1 and select the

correct answer using the code given below
the Lists :

List-1 List-11
(Element) {Application)
A. Isotope of 1. Treatment of
Uranium cancer
B. Isotope of 2. Treatment of
Cobalt goitre
C. Isotope of 3. Treatment of
lodine secondary cancer
D. Isotope of 4. Nuclear fuel
Radium
Code :
A B C D
(a) 3 2 1 4
b 4 2 1 3
() 4 1 2 3
@ 3 1 2 4

(Contd.)
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78, Wb T ¥ P wel ¥ R A 81 L A G g A o g

79.

80.

oEl # ded wem T g 7

() 50

(b) 48

{c) 43

(dy 46

e A B A FAmT 91 & ger
A O H, T C M DA e
Fe1 VIH 923 a o+ dem & w4
U & 7

(a) 53:352

(b) 43:47

(c) 25:27

(d) 39:38

-1+ -1 & gafa Al qor gREi
# ¥ Ry 1 Kz F W B wd IR

T -
g1

A i)

(q-3mpic fafdrear) (3rafeta)

A vl ud 1. wddw $=
(wefoer ew)

B. ‘V-¥&HR #H 2, ¥HF @T
.

C. IFEl 3. 78 ® Preec

G

D, =t 4, vadg wefft

5{{2’ :
A B C D

(a) 4 1 2 3

() 4 2 1 3

(c) 3 2 1 4

(d) 3 1 2 4

82.

# = Ry o gz w1 @ #1980
Ih
g1

g
(Foormfeaeiy (afeafy)
gH9Id) :
A. THaw 1. USA
B. w¥wT 2. ¢ R
C. TEEA 3. e
D. faf-fafesr 4. W™
L TN
A B C D
a) 4 2 1 3
by 4 1 2 3
cy 3 1 2 4
d 3 2 | 4
TA-191 g1 & TR Fif aor gl

* A Ry 1wz F1 9@ s wd I
I
g1

g1l
() (srg7amm)
A, QEw #= 1. FC F ITR
LurlECa
B. $wHice # 2. IO I
TR AT EREITS
C. 3T & 3. Rdws F@x
- gRetTE F JUETC
D. Wemwm = 4, T SgF
BT HE
E
A B C D
(@ 3 2 I 4
b 4 2 1 3
c© 4 1 2 3
d 3 1 2 4
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83.

34.

8s.

86.

Hemocyanin is an oxygen-transpert
metalloprotein present in some invertebrate
animals. This protein contains :’

(a) one copper atom

{b) two copper atoms

(c) one iron atom

(d) one magnesium atom

‘A", ‘B’ and *C’ started their independent
businesses with equal amounts of capital.
During the first year ‘A’ made 10% profit,
‘B’ incurred 10% loss and ‘C’ made a profit
of 5%. In the second year ‘A’ incurred 20%
loss, ‘B’ made profit of 20% and ‘C’ made
profit of 5%. Which of the following is
FALSE at the end of second year ?

(a) ‘C’ isthe richest

(b) °A’is the poorest

(c) ‘B’ isthe richest

(d) ‘C’isricher than ‘B’

At what time between 2 and 3 will the hour

and minute hands of a clock be 12 minutes
divisions apart ?

(a) 20 minutes past 2
(b) 247 minutes past 2
(¢) 24 minutes past 2
(d) 24L minutes past 2

Which of the following statements with
regard to the continental shelf is NOT
correct 7 '

(a) Shelves are absent close to plate
boundaries

(b) They are highly sedimented

{c) They have abrupt falls towards the
continental slopes

(d) They are rich fishing areas

87.

88.

IV. CAREERINDIA

Arrange the following National Parks of

India from North to South direction :
1. Indravati National Park

2. Nagarhole National Park

3. Corbett National Park

4. Madhav National Park

Select the correct answer using the code

given below :
(a 1,3,2,4
b 2,1,4,3
() 3,4,1,2
d 2,3,4,1

Which one of the following statements is

correct ?

(a) Iron sulphate and copper sulphate
crystals have same number of water of

crystallization

(b) Ironsulphate and zinc sulphate crystals
have same number of water of

crystallization

(c) Zinc sulphate and copper sulphate
crystals have same number of water of

crystallization

(d) Iron sulphate, copper sulphate and zinc
sulphate crystals each have same

number of water of crystailization

(Contd.)
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83. emmfia wr siEheT-afmm gy
9 B o o AEhed Sqs A e
gt B @ N F wm gt B 7
(a) T& TH TR
(b) q aH T
(c) TF e (WRITT) WA
(d) wF ATNREE o

84. ‘A, ‘B” WX ‘C’A wAH T W
HYAT-I9AT g yEw fvar | gum adf #
‘A’ 10% T AW FAET, B H 10%
gy g8 M C’ A 5% F1 W FHE
fadta af & A 9 20% € 5 52, ‘B’
Bl 20% 9 BA MY C’ W 5% AW
gami R af & g F Preafafem §
¥ @ e &7
(a) ‘C’ 999 P ga 2
) ‘A TER AfEw T
(c) ‘B’ ¥=® HUF gAart B
@ C’,‘B'® U+ gFarT @

85. 2@ 3w & W frw wyu W fFd wh
1 w2 ok fme @ W & &
12 e g &1 I@e @ 7
(a) 299X 20 fie 9x
(b) 2s9HT 245 fmT w
(¢) 2 %9&T 24 T W
(d) 2 w9 244 fz

86. WETeriw Tew & guy ¥ Freaffya Fue)

H A g o1 o wé 98 & °

(a) Qe-dmsl F P dew e
T8 Bt ’

(b) ¥ HOeF sawdl (@FEHAIE) onr 2

(c) ¥y Tl ) NT ITH T YaA
B ®

(d) ¥ 79 At &F o ¥
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87. W@ & Proafufem YuAe ol B I

T gfgmr Rem & R wweg AT
1. SgEd AvHw U
2. AWM AIAA aH

3. HEe ATAA TR

88.

4, HYE ATAA g

9 Ry 1w #¢ &1 yum FT §E IW

ofre ,

(a)

(b)

(c)

(d

fFrafafg o d @ 219 @ @ w9

27

(a) WA Fehe MY FW Gohe F
freeal ¥ fFedT-9a & a9 e
a2

(b) IO Fehe AT NF dodhe & Feedl
¥ frccdq-wa @ wo9 @ g 2

(c) W% gvde I FX gedhe & Feeeh
¥ oo M e dar A 2

(d) IWTA Fehe, FX dodhe M [+
qo%e, T & el § frredd s
# T g B 2

1,3,2,4
2,1,4,3
3,4, 1,2

2,3,4,1
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89. Match List I with List Il and select the

91.

correct answer using the code given below
the Lists :

List-f List-1I
(Scientist) (Area of study)
A. 1.D. Watson 1. Microbiology
B. Louis Pasteur 2. Taxonomy
C. Carl Linnaecus 3. Molecular
Biology

D. Charles Darwin 4. Evolution
Code :

A B C D
@ 4 2 1 3
(b) 4 1 2 3
)y 3 1 2 4
d 3 2 1 4

If in a certain language NEOMAN is coded

- as OGRQFT, then ZKCLUP is the code of :

(a) YJBKTO
(b) YIZHPJ
(¢) YIAQKJ
(d) YIZIRM

In an examination, there are three subjects
‘A’, ‘B’ and ‘C’. A student has to pass in
each subject. 20% students failed in *A’,
22% students failed in ‘B’ and 16% students
failed in ‘C’. The total number of students
phssing the whole examination lies
between :

(a) 42% and 84%

(b) 42% and 78%

(c) 58% and 78%

(d) 58% and 84%

92.

93.

94.

&AREEHINDIA

Which one among the following is NOT a

minor plate ?
(a) Nazca
(b) Arabia
(c) Philippines
(d) Antarctica

The trees of tropical rainforest have buttress

roots because :
(@)
(b)

they help to provide aeration to soils

the organisms found in the buttresses

have a symbiotic relationship
(©)
(d)

the trees belong to gramineae family-

the buttresses have to bear the

mechanical load of hardwoods

It is reported that there is an ongoing
decrease in the pH value of ocean water
because of global warming. It happens due

to:
(a) larger uptake of CO, by ocean water
(b)
(c)

lesser uptake of CO, by ocean water

larger uptake of atmospheric nitrogen

by ocean water

(d)

- lesser uptake of atmospheric nitrogen

by ocean water

(Contd.)




——

89. YA FE-I1 ] ghfew aﬁﬁ‘m Tl g
3 1 R Tg Hz w1 g T FE I
T

g1 g1
(@s1fr®) (g7 #T 67)
A, X3 dleda 1. genfe
GIEEACILIGIE !
B. {3 =Y 2. =ffEwy fwm
(i)
C. #d Rate 3. soifaw Safaem,
(Atferrgee
FRITATT)
D. =" sidg 4, ReEw
FT
A B C D
(@ 4 2 1 3
b 4 1 2 3
c 3 1 2 4
@ 3 2 1 4

90. ufz @t ffdeg s ¥ NEOMAN #!

91.

OGRQFT ¥ wess frur wmm 2,
ZKCLUP a1 % 8 7

(@) YIJBKTO

(b) YIZHPI

(©) YIAQKI

(d) YIZIRM

freft odem & cA, ‘B R C’ A faww

¥ e o o ) o ReEr ¥ s

AT HETH B | 20% O A’ H Fhol
g, 22% O ‘B’ ¥ Il gu A 16%
B C H sl gui sel when A
Il 8 A Bl N we g@ e
fi7 & 7

(a) 42% 3T 84%

(b) 42% I 78%

(c) 58% IR 78%

(d) 58% AT 84%

92,

93,

94.

~CAREERINDIA

Preafafem & & A7 & w, @y <T

(AR QA7) TqE B 7

(a) T

(b) srferm

(¢) foHferdt=g

(d) T

Jwsfeadw aufar F gl F qEeE

(3w ®cH) B 8, FE

(@) ¥ gar ¥ ag-Fom T F weds
G

(b) gem wei ¥ Wy WA a Fa A
RECICIGEt M

() 3w, M F@ () ¥ WeE B
&

(d) TN SE F gE-FQ F Fopa IAET
(ASPrFa-dIs) T FCO S@ B

T RQd fFar mar 2 & gEsehy ava

# @ ggd 9@ F pH A ¥ TR

w0 8 W B TWHE IR

(a) WF 9 @ CO, F1 FHPA
I 2

(b) WS ST W CO, FT IUAFT FH
I 2

(c) U W BRI ATACSHN AN
&1 IReFa AF Igue @

(d)mwmmﬁvmﬁaﬂ
& EFT FH I 2
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'95. Match List-I with List-II and select the 97. Consider the following diagram :

correct answer using the code given below A B
the Lists : W N
Lise-1 List-IT 9 Q
{Day) " (Occasion)
A. 11* July 1. Human Rights ¢
Day If the number of elements in ‘A’ is twice the
number of elements in ‘B’, then X is :
B. 5% June 2. Hiroshima Day (a) 78
. (b 93
C. 6" 3.
O™ August International ©) 94
Environment (d) 108
Day 98. From which among the following pairs of
species, a smali quantity of fine quality wool
D. 10" December 4. World Population is obtained in India ?
Day (a) Pashmina goats and Angora rabbits
(b) Pashmina rabbits and Angora goats
Code : {c} Pashmina rabbits and Angora sheep
A B C D (d) Pashmina goats and Angora sheep
99. The following item consists of two
a 1 3 2 4 statements, Statement [ and Statement II.
Examine these two statements carefully and
b 1 2 3 4 select the correct answer using the code
: given below :
) 4 2 3 1 Code
(d) 4 3 2 1 (a) Both the statements are individually
true and Statement II is the correct
96. 65% students ina class like cartoon movies, explanation of Statement [
70% like horror movies, and 75% like war (b) Both the statements are individually
. _ true but Statement II is NOT the correct
movies. What is the smallest percent of explanation of Statement I
students liking all the three types of (¢} Statement I is true but Statement II is
. ' false
9
ovies : (d) Statement I is false but Statement I is
{a) 10% true
‘ Statement I :- All the energy received by the
{(b) 25% earth is from the Sun through
ey 30% electro-magnetic radiation
() ° Statement I : The earth also radiates back all the
(d) 5% received energy through various
' , ways to maintain the heat budget
of the planet

34 {Contd.)




95.

96.

TR I g AR R
& 1 Re 1T iz #1 7@ w7 w9l W

TP -
g1

G
(fa7) (37%)
11 qars 1. wHEEsR Raw
597 2. RURm Raw
6 3TEd 3. sEUT i
feaw
D. 10 fewm= 4, fawa sd@n
f
A B C D
(@ 1 3 2 4
b 1 2 3 4
( 4 2 3 1
(d) 4 3 2 1

forelt e ¥ 65% B FET T gEE
I &, 70% BA suat wehA (B8R
W)WW?,W?S%W&E
w@ (@ 4dY) e w § ) A
HIX R qEEA B GEG FG A BET
I dyqw wiagmar @ g ?

(@) 10%

®) 25%

{e) 30%

(d) 5%

97.

98.

99.

IV. CAREERINDIA

frefafas arte w e e .

-

C
gfe ‘A’ H gedt Y e, ‘B’ H dedl @
e § A 3, O X o9 wwm @ ?
(a) 78

() 93

(c) %4

(d) 108

Wi ¥, Prafofed & 8 b o oiefie-gm
& I=9 TUERT RN A B G WA
BT & 7

(a) Terfr1 SwRal X M @y

(by T wonw s o weft

(c) voHET wonw AR s 9

(d) wEHAT wwiE i s 9Y

ﬁ & FuT IEw-Im v g, A
Y-, FEF-1 F FE TWEHE
2

(b) AT & FaT IaT-3@T ¥ ¥, fig
F-]l, Fg9-] F7 o wedie T8
&

(¢) F¥F-1 ®c7 8, g F99-11 9y

(d) F99-1 3wy 8, f¥g Fu-11 & B

Fg9-1: gl A g 1R A @wed
Faf g & Agagedm qon @
ey & Iy 2

A gyl off, 18 & Fe-awe @t
FAMM @1 F g gns gmw
FS BT I YRR & aw AR
w8

(a)
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100. Which one among the following substances

101.

102.

103.

is NOT a ‘green house’ gas ?
(a) Water vapour

(b) Chloroftuorocarbon
{c) Methane

(d) Nitrogen

Ozone layer depletion is a major phenomenon
in:

{a) Troposphere
(b) Stratosphere
(c) Thermosphere
{d) Exosphere

29* February of the year 2000 was Tuesday.
After this date how many times 29
February falls on Tuesday in the whole

century ?
(a) 3
(b) 4
() 5
(dy 6

How many numbers from 1 to 1000 are there
which are NVOT divisible by any of the digits

2,3and 57

(a) 166

" (b) 266

104,

() 357
d) 366

Which one among the following plains is
associated with Limestone Topography ?

(a) Bajada plain
{b) Alluvial plain
(c) Karst plain
(d) Pene plain

105.

106.

107.

108.

109.

IV. CAREERINDIA

Regur soil is most suitable for the cultivation
of :

(a) Groundnut
(b) Cotton

(¢) Tobacco
(d) Sugarcane

The hydrogen atoms present in acetylene
molecule are :

(a) acidic

(b) basic

(c) both acidic and basic
(d) neutral

Which one of the following compounds is
NOT considered an acid ?

(2 BF,
) ACI,
© NH,
(d) CJHOH

Which one among the following is the
correct order of west flowing rivers in terms
of decreasing size of their river basins ?

(a) Narmada— Tapi — Sabarmati - — Mahi
(b) Tapi — Narmada — Mahi — Sabarmati
(c) Sabarmati— Narmada — Tapi — Mahi
(d) Narmada— Tapi— Mahi — Sabarmati

Which one among the following States is
the leading producer of petroleum (crude)
in India ?

(a) Assam

(b) Gujarat

(¢) Maharashtra

(d) Andhra Pradesh

(Contd.)




100. Fr=fefee werdf o & #9 w, WA
FARL: R i -

(a) Sel-9T™
(b) FAAFRIHIFTEA
(c) AUF
@) A
161. 9" oxd #1 g fRFd R Al e
e & 7
(a) & (QraRER)
(b) "waHsa (GRHAT)
(c) W& FgHSH (WHIRER)
(d) aferfsa (Trfe)
102,39 2000 #t 29 BLEd A HIEET W W

R @ uEr, 3@ waea # fhaft 9K
29 LAl HueA A a7

(a) 3
(b) 4
(c) .5
(d 6
1@ 100099 ®, 2, 30T 549 fawlm

FdF 81 aeh feaht s=ud & 7
(a) 166

103,

(b) 266
(c} 357
(d) 366
Frefafem #M ¥ @ #19 &1 ©, -9

AP & dEim & ?
(a) BT AR '

104.

(b) v AeH
(c) ¢ e
(@) ¥ A&

R R RRREREREREEEE NS

&AREEHINDIA

los.mqﬂmﬁfﬁ%m_mwgﬁ
g 8 7
(a) et
(b) FIE
(c) T
(d) =T
106. Tfeels o ¥ fammm erEged 9O
T B B 7
(a) =l
(by &m
(c) I X arlm A1
(d) ST
107. Prefofag Ml & & 917 @1 @&, I
@ AT S 8 7
(2) BF,
(b) AIC,
(c) NH,
(d) CH,0H
108. Fr=fafem o @ A3 91w, uiEw &)
A wE At ARd w1, I AQ-IRH
F ey WX B WEUR W, T FTHA & 7
(a) s — afl — wEEd - JTE
(b) ot — FHT — W — FE
(c) "ETAd — AR — af — A@E
(@ Ha — g — WA — N
109. 9w ®, Pyeafafeg wodt § & A9 W
w, Yfermm (wrefdE) & sl Ieues
g7
(a) ¥d&H
(b) TET
(c) wEIUSY
(d) gy
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110. Which one among the following States is

111.

112

113.

the leading producer of salt in India ?
(a) Rajasthan

(b) Gujarat

(¢) Tamil Nadu

(d) Andhra Pradesh

Movement of outer electrons in the inner

orbits of an atom produces :
(a)
(b)
(©)
(d

o-ray
p-ray
y-ray
X-1ay
y-ray consists of :
(a)
(b)
()
(d)

meson particles
neutrino particles
Higg’s boson
electromagnetic waves

The heaviest element known up till January

2015 has the atomic number :
(a) 117
(b)
(c)

(d)

118

119

120

IV. CAREERINDIA

114. Consider the following statements relating

115.

116.

Statement |

Statement I

to cyclone, anti cyclone and trade wind -

1. The wind direction is clockwise in the
cyclone of northern hemisphere

2. The planetary wind that blows from
north-east to north-west is known as
north-east trade wind

3. The wind direction is anti clockwisc
in the anticyclone of southern
hemisphere

4. Both westerlies and trade winds
originate from sub-tropical highs

Which of the statements given above is/are
correct 7

(a) 3 and 4 only

(b) 1,3and 4

(c) 4 only

(d) 1,2and3
‘Evaporites’ is :

(a) arock

(b) ameteorite

(c) a brackish water pan
(d) anevaporimeter

The following item consists of two
statements, Statement I and Statement 1.
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

(a) Both the statements are individually
true and Statement Il is the correct
explanation of Statement I

Both the statements are individually
true but Statement IT is NOT the correct
explanation of Statement [

Statement I is true but Statement II is
false

Statement | is false but Statement II is
true

(b)

(©
(d)

: The Indian Ocean Tsunami
of 2004 occurred along a
subduction zone along west
coast of Sumatra

: Along the Sumatra coast the
Indo-Australian Plate converges

below the Eurasian Plate
(Contd.)
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(b) T
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(@ 117
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() 119

(d) 120
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% qfiwdy 9 & U§ w9-saA
DT F A9 afeq gdr A
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gdr 8
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‘118.

117. Consider the following pattern :

il

The embedded figure in the given pattern
s,

[___l
(b)
(c)
(d)

Which one of the following series of letters
follows a pattern and is different from the
rest ?

(8 ADHMSZ
() BEINQX
(¢) DGKPUY
(d CF10SZ

119.

120,

121.

()

IV. CAREERINDIA

The age of ‘E’ is twice the age of ‘S’
To find out the difference in their ages,
which of the following information is/are

sufficient ?

[.  After five years, the ratio of their ages
would be 9: 5

II.  Before ten years, the ratio of their ages

was 3 : 1
(a)
(b)
(c)
(d)

Two racing cars of masses m, and m, are

Onty ]
Onty 11
Either I or Il

Both I and II

moving in circles of radii r, and r,
respectively. Their speeds are such that each
car makes a complete circle in the same time
‘t’. The ratio of angular speed of the first to

that of the second car is :
(@) m :m,

(b) 1:1
(c) r:r,
(dy 1:2

Heavy water of an atomic reactor is :
(a)
(b)
(c)

deionised water
an oxide of heavier isotope of oxygen
a mixture of ice and water

an oxide of heavier isotope of

hydrogen

(Contd.)
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(b)

(c)

(@ m,:m,

() 1:1

(d) (€) 1.1,
d 1:2
121.%@@@@?‘(7‘#@%@%
g 7
(2) fasmfra (RBeiwarss) @«

' 118, wed] @ Preafafee Aty ¥ @ 39 &,
T Yoo F IET w8, AT I

Rrer 2 7 (b) RO & eFa W TREAAE
(a) ADHMSZ F T SIS

® BEIJNQX (c) % ST o w1 oo

(&) DGKPUY (d) T F sterpa Wl wEentrE
@ CFIOSZ F TE IS
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122. In a radioactive decay of a nucleus, an
electron is also emitted. This may happen
due to the fact that : '

(a) electrons are present inside a nucleus

(b) an electron is created at the time of
conversion of a neutron into proton

(c) an electron is created at the time of
conversion of a proton intc a neutron

(d) electrons need to be emitted for
conservation of momentum

The next three (03) items have two premises and
two conclusions. If the premises are assumed to
be true (irrespective of factuality), then, in respect
of each of the items given below, which of the
following conclusions follow logically ?

{a) OniyI

(b) OnlyII

(c) Bothlandll
(d) Neither I norII

123. Premises

Conclusion :

124. Premises

Conclusion :

125. Premises

Conclusion :

IV. CAREERINDIA

All metals are grey in
colour. Some metals are
heavy.

I. All heavy metals are
grey in colour.

II. All light metals are not
grey in colour.

All film stars are
playback singers, All film
directors are film stars.

L All film directors are
playback singers.

II. Some film stars are film
directors.

All apples are golden in
colour. No golden coloured
things are cheap.

L All apples are cheap.

II. Golden coloured appies
are not cheap.

(Contd.)
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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Note : English version .of the instructions is printed on the front cover of this Booklet.
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